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Q.1 Answer the following by selecting correct choice from the options : [101

(1) ¥y = (ax+ b) then y,

)"nta? {c) (1)a {d)  None of these

@ G O G (@xtny™
(2} coshx — sinhx = ..........
{a) e* {b} e ™ {c) 1 {d} -1
B)If y = €™ Tthen 3,2 = ...
@ 2% 0 X g =X (d) None of these
@y = x*—3x%+ 2xthenY -intercepts is ........
{a) 0 (b) 1{c) 2 (d} -1

{5) #f eccentricity e < 1 then conicis ........
(a) Hyperbola (b) Parabola (¢} Elispe {d) Circle

(6) The curve of r = cos28 is symmetric about .........
{d) Polar axis, Normal axis and Pole

{a} Polar axis (b) Normalaxis {c)] Pole
{7) f;% sin® xdx = ...
@ 3 Wz © : @ 1

(8) ] = fof fan™ x dx then J,_ ...
Stz O ez (© So—ha () e

(@) 1
{9) If f(x,y) = x*y* — x5y* + x%y2is a homogeneous function of degree ...........
(@) 6 ib) 8 {c) 4 (d o
(10) Velocityis ¥ = ........
@ = ) o © vl () None
COT0)

€Y




Q.2 Do as directed. {8}
— ay _
(1) if v = cosh Zx then — T e

{2}y = sin(2x + 1) then ¥, = .

{3 Fy= _zx_ 2{‘chen haorizontal asymptote is ........

xZ
{4) For the polar curve 12 = 9sin28 extent is ...
(5) JZ cos” x dx= e

{6) Volume by the Washer method is V = .........

(7 ifr = a(l — cos@) then 7y =.........

(8) True or False: Is f(x,y) = ‘E—i—f homogeneous function of degree — %

Q.3 Attempt any Ten. [20]

sin{x?—4)

{1} Evaluate: lim,_,, P

(2) fy = e3* —log(7x — 5) then find y;.

(3) fy = e**sin5x thenfind y; .

(4) Find parametric equation of Vx + [y = va.

(5) Discuss symmetries of the curve xy = 16.

{6) Express the point {3, 40°) in threeother ways , where —2r < 8 < 2m;.

{7) Evaluate: fol x*sin txdx. |

(8) Find the volume of the solid generated by revolving the region between the y-axis

and the curve x = 2,fy, 0 < y < 4, about the y-axis.
ki3
(9) Evaluate : [# cos®(2x) sin*(4x) dx.

(10) Define : Homogeneous function.

(11) Define ; Acceleration.

(12} For the curve y = a sin2x then find % .

)



0.4 Attempt any Four. _ [32]

{1) State and Prove Leibniz's theorem.

e*+log (1-x)+1

(2) Evaluate :lim,_g p——

{3) Discuss intercepts , symmetries , asymptotes, sign of function and hence sketch

: x¥-1
thecurvey = 5.
. _ pe
{4) In usual notation prove thatr = - Tesin

1T
{5) Obtain Reduction Formula for fOE sinx dx ,wheren € N.
(6) The circle x2 + y? = aZis rotated about the X- axis to generate the sphere
find its volume.

{7} State and Prove Euler’s theorem for z = flx,v).

3
(Lhy * )2

{8) in usual notation prove that p = "
2
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(1) Sly= (ax+ b idly, =

(—1)"*nta™ (—1y'n! a® (-Dra™

@ e ® aw O G {d) qu?l o8l
(2) coshx — sinhx = ..........

(a) e* (b) e * (c} 1 (d) -1
3) Ay = e EA y,2 = e

@ e M O EE @ fsuwead
(4) "eﬂy = x3 —3x% + 2x cll Y-intercepts @

(a) 0 (b) 1 {c) 2 (d) -1
(5) B Gdosiclle <1 Al ABA ... B.

@ wUQacA (b) wddA (g Gudaa () dda
(6) <lSr = cos26¥ WA ...... Al B.

() yclleraet (b) wlQcioust (9 Yd () Yellama,uQcons ua yd

(7) fZsin®xdx= ..

@ @I 2 1
- (8) B Jp [Ftan™ x dx <l Jrw v
@ St ) edaz @ k2 (@) 5t

9) WwuBmella @RAf(x,y) = x4y — x°y3 + x6y%qf URMEL........D.

(a) 6 (b} 8 (c) 4 (d) 0
(10) Adt T = ........
@ Z 6 F @ W (@ Asuaad

(@9} (P70




Q233U Y3l 531 [81
(1) £ y = cosh 2xcll %:

(2 y = sin(Zx + Dl y,, = ...,

2

X2—x—2

(3) %l y = Al LAY viold ugls =...... B,

{4) Yellar a5 r2 = 95in26 oll [z (extent)....... 8.

(5) fﬂg €OS’ X AX= .orru.
(6) <tk Ut (Washer method) YMIB UelSHL V= ...

(7} r = a(1 — cos8) A7y = e

(8) W3 et Wig: auBHela @R fx, y) = *’f_g—&d uRme -1 7

0.3 L 10 ot ol vl [20]

sin(x?—4)
x—2

(1) Bud Atim,_,,

(2) Bly=e®— log(7x ~3) A y, antil.

(3) Bl y = e*sin5x ly, L.

(@) Vx + [y = va < yua wllsw k.

(5) AS xy = 16 ofl AMMAl ol 2] .

(6) (g (3, 40°) R oufl oft At A el QA »2ti-21 < 0 < 27

(7) Batct A [ x5 sin~? x dx .

(8) Y- Aal A% x =2,/3,0 <y <4 ARatl A AAY-lgtell vUOUY
YHLccl ALl Yoto] UstgoL AL

(9) Bt A [ cos® (2x) sin*(4x) dx .

(10) cattvul: ¥ uRaefla @8y,

{11)l021.tb€lt : yadot

(12)d$ y = a sin2x W2 2 A4,

(2>



0.4 01 a 4 oll %cllol L [32]

(1) clatoslles of Yol cull wal Wldd 52,

e¥+log (1-x)+1
tanx—x

(2) Bud A :dim,.,g
(3) csy = ol vickuidl, AHAAL, diotct LR A QA2 of Rget
olssl 5 el A UR &l a5 of WAVt 53

(4) YRl ¥ il Wl s 3r = 22—

1tesing
(5) fog sin™ x dxo] AYSQL YA HAOd, %L ne N,
(6} AjOl x% + y2 = aZoll Aol X — vetoll BUUUA YHLelell ULl INEAS of
deigo QUL

(7) QR z = Fx, y)MER AWSAUR of YN AVl AU WA 53 .

(8) AR A¥c ul WA 53 ¥ = L2

Y2

(B







